C:h |dentifying Rate of Change (Tables)

Name:
| dentify the rate of change for each table. Answers
1) [X]|Y 2 | X |Y 3 |X|Y
-8|-15 -10|-30 -9|-66 1
3| 0 8 |-24 -4(-31
7 | 30 -6 |-18 -1(-10 2.
8|33 2| -6 0l -3
10| 39 7 |21 1| 4 3
4.
5.
4 x|y 5 | x| Y 6) | x| Y
52 5|-28 -9(-13 6.
11]8 2| 7 -8(-12
411 3|12 -4 -8 7.
512 6|27 2| -6
10| 17 7|32 6| 2 8.
9.
10.
7 |IX|yY 8 |x|Y 9 | X|Y
5]-60 6|-18 6] -1 1L
-1]-12 4(-12 5[0
3|36 ol o 411 12.
5| 60 1| 3 0|5
7|84 5|15 10|15
10) [ X |Y 11) (x|Y 12) | x|Y
5-1 0|0 1113
410 117 6 |48
3|7 2|14 7|55
7111 6 |42 9|69
10|14 8|56 10| 76
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 11-121 8 | 0




C:h |dentifying Rate of Change (Tables)

Name. Answer Key
| dentify the rate of change for each table. Answers
1) [X]|Y 2 | X |Y 3 |X|Y 3
-8|-15 -10|-30 -9|-66 1
300 -8 |-24 -4(-31
7 | 30 -6 |-18 -1(-10 2 3
8|33 2| -6 0| -3
10| 39 7 |21 1] 4 3 /
4 1
5 5
4 x|y 5 | x| Y 6) | x| Y 1
52 5|-28 -9(-13 6
11]8 2| 7 -8(-12
411 3|12 -4 -8 7 12
5|12 6| 27 2| -6
10|17 7]32 6] 2 8 3
9 1
10, 1
7 |IX|yY 8 |x|Y 9 | X|Y v
5]-60 6|-18 6] -1 1L
-1(-12 4(-12 5[0 v
3|36 ol o 411 12.
5| 60 1| 3 0|5
7| 84 5|15 10| 15
10) [ X |Y 11) (x|Y 12) | x|Y
5-1 0|0 1113
4|0 1|7 6 | 48
3|7 2|14 7 |55
7 111 6|42 9 |69
10|14 8|56 10|76
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name:
| dentify the rate of change for each table. Answers
[ X|Y 2) |X|Y 3 |X|Y
-10|-72 -8(-72 -7|-84 L
-6 |-44 -3|-27 -6|-72
0]-2 -1] -9 -5(-60 2.
5 |33 2|18 -4|-48
7 | 47 3|27 7|84 3.
4.
5.
4) IX|Y 5 |X|Y 6) | X|Y
2]-2 -9]-65 5(-1 6.
3(-3 -7|-51 4|0
4(-4 -2[-16 7|11 £
710-7 5|33 8|12
8|-8 7| 47 10|14 8.
9.
10.
N IX|Y 8 |X|Y 9 |X|Y
9[-79 9[-36 9[-35 1
-8|-71 -1]-12 4| 4
-6|-55 2] -3 6| 10 12
-5|-47 4| 3 8|16
8|57 8|15 9119
10) | X | Y 11) | x| Y 12) | X |Y
-10|-42 -9-16 -10{ 10
-7 |-27 -4|-11 88
2| -2 -3(-10 5|5
0|8 0 -7 -4 | 4
2 |18 1|-6 1)1
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name. Answer Key
| dentify the rate of change for each table. Answers
D IX|Y 2) IX|Y 3 [X|Y -
-10|-72 -8(-72 -7|-84 L
-6 |-44 -3|-27 -6|-72
01-2 -1] -9 -5(-60 2. 9
5 |33 2|18 -4|-48
7 a7 3|27 784 3 12
4 1
5 7
4) IX|Y 5 |X|Y 6) | X|Y 1
2]-2 -9]-65 5(-1 6
3|-3 -7]-51 400 3
44 -2]-16 7 (11 !
710-7 5|33 8|12
8|-8 7| 47 10|14 8 3
9 3
10. 3
N IX|Y 8) |X|Y 9 |X|Y 1
9[-79 9[-36 9|35 1
-8|-71 -1]-12 4| 4 1
-6|-55 2] -3 6| 10 12
-5|-47 4| 3 8|16
8 | 57 8|15 919
10) | X | Y 11) | x| Y 12) | X |Y
-10|-42 -9|-16 -10 |10
-7 |-27 -4|-11 88
2| -2 -3(-10 5|5
0|8 0 -7 -4 | 4
2 |18 1|-6 1)1
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name:
| dentify the rate of change for each table. Answers
1) (x|Y 2 | xX|Y 3 | x|Y
5(-22 -11(-10 -10|-23 L
-4|-18 2| -7 6 |-15
1| -6 5| -4 -5 |-13 2.
3|10 6| -3 2 |1
6|22 10| 1 7 |11 3.
4.
5.
4 Ix|Y 5 | x| Y 6) |X|Y
7]-28 -8-144 5[-27 6.
1| 4 -6|-108 4|-22
2| 8 2| -36 2(-12 £
5|20 1| 18 4118
8|32 5| 90 6|28 8.
9.
10.
7 |IX|Y 8 |x|Y 9 |X|vY
4] -8 9]-15 9] 9 1L
1] 1 1| -7 5| 5
1] 7 1] -5 1] -1 12.
6|22 2| -4 8| -8
9|31 8| 2 10|-10
10) [ x |Y 11) x| Y 12) (x|vY
5(-7 -7|-36 -9|-43
1]-1 0| 6 -3(-13
412 4130 3|17
5|3 5|36 5|27
10| 8 9| 60 6|32
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name. Answer Key
| dentify the rate of change for each table. Answers
1) (x|Y 2 | xX|Y 3 | x|Y 4
5(-22 -11(-10 -10|-23 L
-4(-18 2| -7 6 |-15
1| -6 5| -4 -5 [-13 2 1
3|10 6| -3 2 |1
6| 22 0] 1 7 1 3 2
4 4
5 18
4 Ix|Y 5 | x| Y 6) |X|Y 5
7|-28 -8|-144 5(-27 6
1| 4 -6|-108 4(-22 3
2| 8 2| -36 2(-12 7
5|20 1| 18 4118
8|32 5| 90 6|28 8 1
9 1
10, 1
7 |IX|Y 8 |x|Y 9 |X|vY 6
4] -8 9]-15 9] 9 1L
1] 1 1| -7 5| 5 5
1|7 1] -5 1] -1 12
6|22 2| -4 8| -8
9|31 8| 2 10|-10
10) [ x |Y 11) x| Y 12) (x|vY
5(-7 -71-36 -91(-43
11]-1 0| 6 -3|-13
42 430 3|17
5|3 5|36 5|27
10| 8 9| 60 6|32
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name:
| dentify the rate of change for each table. Answers
) |X]|Y 2) |X|Y 3 | X |Y
-8|-19 9| -3 -10| -84 L
-5(-13 ‘11 5 -3 |-21
-1| -5 0|6 11|15 2
1] -1 410 2 | 24
4|5 7113 6 | 60 3.
4.
5.
4 |x|Y 5 |X|Y 6) [X|Y
-5[-20 -5[-34 -8[-10 6.
2| -8 0| 6 71 -9
1| -4 438 4| -6 7.
3|12 7162 4| 2
9|36 9|78 5|3 8.
9.
10.
N |X]|Y 8) |X|Y 9 |X|Y
9| -54 7] 2 8|-34 1
-5(-30 5| 4 -71-29
-3[-18 1110 2| -4 12
1| 6 3|12 6|36
3|18 918 8 | 46
10) [ X |Y 11) | X | Y 12) (x| Y
-3(-8 -10|-80 -6|-42
-2|-3 2 |16 -4|-28
2 |17 6 | 48 2(-14
3|22 7 | 56 4|28
10|57 8 | 64 6| 42
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name. Answer Key
| dentify the rate of change for each table. Answers
1) (x|Y 2) I X|Y 3 | X |Y 5
-8(-19 9|-3 10| -84 L
-5|-13 -1| 5 3 (-1
1) -5 0|6 1|15 2 1
1] -1 4110 2 | 24
4] 5 7113 6 | 60 3 9
4 4
5 8
4 Ix|Y 5 | x| Y 6) |X|Y 1
5[-20 5(-34 -8[-10 6
2| -8 0| 6 71 -9 5
-1 -4 4138 4| -6 7
3|12 7|62 41 2
9|36 9|78 5| 3 8 1
9 5
10. )
7 |IX|yY 8 |Xx|Y 9 |X|Y 3
9| -54 7] 2 8|-34 1L
-5|-30 5| 4 -71-29 v
3[-18 1110 2| -4 12
1| 6 3|12 6|36
3|18 9|18 8| 46
10) [ x|Y 1) | x | Y 12) (x| Y
-3|-8 -101-80 6|-42
21-3 2 |16 -4|-28
2 |17 6 | 48 2|-14
3|22 7 | 56 4|28
10|57 8 | 64 6| 42
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-121 8 | 0




C:h |dentifying Rate of Change (Tables)

Name:
| dentify the rate of change for each table. Answers
D x|y 2) |X|Y 3) [X|Y
-10| -5 -9(-72 -6(-36 L
-9 | -4 -6|-48 -4|-24
2 |7 -5|-40 1|6 2
8 |13 3|24 424
10 |15 7|56 8|48 3.
4,
5.
4 | X|Y S | X |Y 6) |X|Y
-10(-50 -10]-12 9|-9 6
1|5 -9 |-11 -8(-8
3|15 6| -8 2|-2 7.
6 | 30 1]-1 1)1
7135 5|3 2|2 8.
9.
10.
N IX|Y 8 [X| Y 9 [ X|Y
6| -54 -8|-128 6|-27 1
-3|-27 -3 -48 -4|-21
1] -9 2] -32 -3|-18 12
8|72 o| o 4| 3
10| 90 1| 16 10| 21
10) | X |Y 11) |x| Y 12) (x| Y
201 -71-53 -71-70
1| 2 0| 3 -5 -50
114 1|11 3|30
5|8 3|27 7170
9|12 5| 43 8|80
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0




C:h |dentifying Rate of Change (Tables)

Name. Answer Key
| dentify the rate of change for each table. Answers
1) | x|Y 2 |x|Y 3 |X|Y 1
10| -5 9|-72 -6(-36 1
9 |-4 -6|-48 4|-24
2 |7 -5(-40 1| 6 2 3
8 [13 3|24 4|24
10 | 15 756 8| 48 3 6
4 5
5 1
4 | x|y 5 | x| Y 6) | X|Y 1
-10|-50 -10-12 9]-9 6
1|5 9 |-11 -8|-8 9
3 (15 6| -8 21(-2 7
6 | 30 1|-1 1]1
7 |35 51| 3 212 8 16
9 3
10, 1
7| x|Y 8 |Xx| Y 9 |X|vY 3
6|-54 8|-128 6|-27 1L
-3(-27 -3| -48 40-21
1| -9 2| -32 -3|-18 12. 10
8|72 ol o 4| 3
10| 90 1| 16 10| 21
10) [x|Y 11) (x| Y 12) x| Y
201 -7|-53 -7|-70
1| 2 ol 3 -5(-50
1|4 1|11 3|30
5|8 3|27 7|70
9|12 5| 43 8|80
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name:
| dentify the rate of change for each table. Answers
1) | x]|Y 2 | x|Y 3 |x|Y
71-5 -3(-27 9(-36 1
5|-3 1|9 6|-24
0|2 5| 45 1| -4 2.
4|6 7 | 63 416
8|10 10| 90 7128 3.
4.
5.
4 Ix|Y 5 | X| Y 6) | X |Y
-6 -42 71-11 210 -2 6.
-4|-28 2|1 9 (-1
1] -7 101 1|7 7.
4128 9|21 2 110
7 | 49 10| 23 7 |15 8.
9.
10.
7 |X|Y 8 | X |Y 9 |X|Y
5[50 -10|-55 5|-44 1L
-3|-30 -9 |-50 -2|-23
7170 3[-20 3|12 12.
8|80 0|-5 7 | 40
9|90 9 | 40 9|54
10) [x|Y 11) x| Y 12) [ x|vY
5|5 -6|-51 -101-40
‘1)1 -5|-43 11 4
1]-1 -3|-27 2|8
41-4 -2|-19 3|12
6|-6 7|53 10 | 40
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name. Answer Key
| dentify the rate of change for each table. Answers
1 | X|Y 2) |X|Y 3 |X|Y 1
7|-5 -3(-27 -9(-36 L
5| -3 1|9 -6 |-24
0|2 5| 45 1| -4 2 9
4|6 7|63 4116
810 10] 90 7128 3 4
4 7
5 2
4 IX|Y 5 |X|Y 6) | X |Y 1
-6/ -42 7)1 -10] -2 6
-4-28 2| -1 9 [-1
-1 -7 1)1 1|7 ! 10
4|28 9|21 2 10
7| 49 10| 23 7 115 8 S
9 7
10. 1
N IX|Y 8 | X |Y 9 |X|Y 3
5(-50 10|55 5]-44 1.
-3|-30 -9 |-50 -2|-23 4
7170 3[-20 3|12 12
81|80 01-5 7| 40
91|90 9 | 40 9| 54
10) [x|Y 11) (x| Y 12) | X | Y
5|5 -6|-51 -101-40
1)1 -5|-43 114
1(-1 -3|-27 2|8
4-4 -2(-19 3|12
6|-6 7|53 10 | 40
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name:
| dentify the rate of change for each table. Answers
1) (x|Y 2 | X|Y 3 |X|Y
-6|-48 6(-35 6| 12 L
-4-30 11 0 -4 8
-3(-21 2|21 0|0 2.
2| 24 3|28 8 |-16
3|33 10| 77 9|-18 3.
4.
5.
4 x|y 5 |x|Y 6) | X | Y
6 -28 9(-21 -10/-40 6.
1] 0 -71-15 9 |-36
3| 8 5| -9 -8 |-32 7.
9|32 21 0 3 |-12
10| 36 7127 2| -8 8.
9.
10.
7 |X|Y 8 |X|Y 9 | x| v
8|24 1]-12 -10[-130 1L
71-21 1] 12 6| -78
1] -3 3| 36 2| -26 12.
0| o0 8|96 0| O
319 9 |108 4 | 52
10) | x [Y 11) (x|Y 12) x| Y
2 10 2|-4 -8(-29
3|11 -1]-3 2| -5
412 412 211
7115 6|4 7|31
10|18 715 10| 43
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name. Answer Key
| dentify the rate of change for each table. Answers
1) (x|Y 2 | X|Y 3 |X|Y 9
-6|-48 6(-35 6| 12 L
-4(-30 ‘10 0 4| 8
-3(-21 2|21 0|0 2 /
2| 24 3|28 8 |-16
333 10| 77 9-18 3 2
4 4
5 3
4 x|y 5 |x|Y 6) | X | Y 4
6 -28 9(-21 -10/-40 6
1] 0 -71-15 9 |-36 3
3| 8 5| -9 -8 |-32 7
9|32 200 3 (-12
10| 36 7127 2| -8 8 12
9 13
10, 1
7 |X|Y 8 |X|Y 9 | x| v 1
8|24 1]-12 -10[-130 1L
71-21 1] 12 6| -78 4
1] -3 3| 36 2| -26 12.
ol o 8| 96 0| 0
319 9 |108 4 | 52
10) | x [Y 11) (x|Y 12) x| Y
2 (10 2|-4 -8(-29
3|11 -1(-3 2| -5
412 412 2|11
7 115 6| 4 7131
10|18 715 10| 43
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name:
| dentify the rate of change for each table. Answers
1) |x|Y 2 [ X|Y 3 | x| v
4] 1 9|-13 -7 |-567 L
‘1| 4 410 -6 |-486
1(6 5| 1 -5 | -405 2.
510 9| 5 4 | 324
7112 10| 6 10| 810 3.
4.
5.
4 | x|y 5 |Xx|Y 6) | x| Y
10[ -1 4]0 -8 -360 6.
019 2|0 -71-315
7 |16 0|0 -4 (-180 £
9 |18 3|0 2| -90
10 [ 19 710 5| 225 8.
9.
10.
7 | X|Y 8 | x|Y 9 |Xx|Y
71-42 10| -25 3] -9 1L
-5|-30 -4 [-13 -1]-32
-4|-24 0]-5 1]32 12
2|-12 6| 7 2| 64
1| 6 8 | 11 8 | 256
10) x| Y 1) | x | Y 12) |x| Y
-9|-58 -101-40 -8|-64
-7|-46 3 (-12 -7|-56
-3(-22 1| -4 4(-32
-2(-16 7 |28 2|16
9|50 9 | 36 4132
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name. Answer Key
| dentify the rate of change for each table. Answers
D [X|Y 2) | X|Y 3 | X| Y 1
4] 1 -9(-13 -7 | -567 L
1] 4 410 -6 | -486
1|6 5|1 -5 | -405 2 1
5 (10 9|5 4 | 324
712 10| 6 10| 810 3 81
4 1
5 0
4 | X |Y 5 |X|Y 6) |X| Y 45
-10( -1 4]0 -8[-360 6
019 2|0 -7|-315 5
7 |16 00 -4(-180 7
9 |18 3(0 -2| -90
10 | 19 710 5| 225 8 2
9 32
10. 6
N IX]|Y 8 | X|Y 9 |X|Y 4
7(-42 10|25 3[ -9 1.
-5(-30 -4 |-13 1] -32 3
-4|-24 0]-5 1]32 12
-2|-12 6 | 7 2| 64
1|6 8 |11 8 | 256
10) | x| Y 1) | x | Y 12) | x| Y
-9|-58 -10-40 -8|-64
-71|-46 -3 |-12 -7|-56
-3]-22 ‘1| -4 -4(-32
-2|-16 7 |28 21|16
9|50 9 |36 4132
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name:
| dentify the rate of change for each table. Answers
D Ix|Y 2 I X|Y 3 [X]|Y
9|-2 -10|-43 -8 -56 L
71 0 -4 |-13 -7 |-49
1|8 1|12 -4|-28 2
411 4 | 27 1|7
5|12 9 |52 9|63 3.
4,
5.
4) X |Y 5 [X]|Y 6) | X |Y
5| 4 71-42 -10|-46 6
4| 5 -5(-30 -6 |-30
2| 7 -3|-18 0|-6 7.
2|11 2|12 3|6
5|14 6|36 6 | 18 8.
9.
10.
7 |X]|Y 8 |X| Y 9 [X|Y
6]-21 5]-70 7]-35 1
21|19 -4 -56 -6 [-30
3| 24 1] -14 5[-25 12
8| 49 1|14 2|10
9|54 8112 9|45
10) | X | Y 11) [ X |Y 12) | X | Y
-71-70 31 -10|-70
-4 | -40 2|6 -4 |-28
-2(-20 6 |10 1|7
6| 60 711 6 | 42
7170 913 9 |63
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name. Answer Key
| dentify the rate of change for each table. Answers
1) |x|Y 2) | X |Y 3 |X|Y 1
9|-2 -10|-43 -8|-56 1
710 -4 |-13 -71-49
1|8 1|12 -4-28 2 S
411 4 |27 1|7
512 9 |52 9|63 3 /
4 1
5 6
4 | X|Y 5 | x| Y 6) | X |Y 4
5| 4 -7 -42 -10]-46 6
4|5 -5(-30 -6 |-30 5
207 -3(-18 0|-6 7
211 2|12 3|6
5|14 6|36 6 | 18 8. 14
9 5
10, 10
7 |X|yY 8 |Xx|Y 9 |X|Y 1
6|-21 5 -70 71-35 1L
2|19 -4 -56 -6(-30 -
3|24 1]-14 5(-25 12.
8 | 49 1| 14 2|10
9|54 8112 9|45
10) x| Y 11) (x|Y 12) | x | Y
-7|-70 301 -101-70
-4 -40 2|6 -4 |-28
-2(-20 6|10 1|7
6| 60 711 6 | 42
7170 9|13 9 |63
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-121 8 | 0




JL_

|dentifying Rate of Change (Tables) Name:
| dentify the rate of change for each table. Answers
D | X |Y 2) |X| Y 3) [X|Y
0]-6 -8(-128 9]-5 L
1]|-5 -4| -64 -8| -4
31|-3 -1| -16 410 2
4 -2 7| 112 1| 3
10| 4 9 | 144 6|10 3.
4,
5.
4 IX|Y 5 | X |Y 6) | X|Y
-8|-64 -10[-14 2]-14 6.
0|0 -7 |-11 4|28
6 | 48 2| -6 5|35 £
8| 64 0| -4 6| 42
9|72 511 10| 70 8.
9.
10.
N |X|Y 8) |X| Y 9 |X|Y
-10|-55 8[-192 7]-45 1
-4 [-19 -7|-168 -4|-24
4 |29 0| o 1|11 12.
7 | 47 2| 48 5| 39
9 |59 7 | 168 10| 74
10) |x|Y 1) | x| Y 12) | X | Y
9|-3 -4|-15 -101-30
2| 4 -3|-12 -6 |-18
0|6 1| -6 -4 |-12
4110 5|12 4|12
5|11 8|21 5 |15
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 11-121 8 | 0




C:h |dentifying Rate of Change (Tables)

Name. Answer Key
| dentify the rate of change for each table. Answers
D [ X|Y 2) |X| Y 3) |X|Y 1
0]-6 -8(-128 9]-5 L
11(-5 -4| -64 -8| -4
3]-3 1] -16 4|0 2 16
4 -2 7| 112 1| 3
10[ 4 9| 144 6|10 3 1
4 8
5 1
4 IX|Y 5 | X |Y 6) | X|Y v
-8|-64 -10[-14 -2[-14 6
0|0 7 -1 4|28 5
6| 48 2| -6 5|35 !
8 | 64 0| -4 6 | 42
9|72 511 10| 70 8 24
9 7
10. 1
N Ix|yY 8) |X| Y 9 |X|Y 3
-10|-55 8[-192 7]-45 1
-4 |-19 -7(-168 -4 | -24 3
4 |29 0| o 1|11 12
7 | 47 2| 48 5|39
9 |59 7 | 168 10| 74
10) |x|Y 11) | x| Y 12) | X | Y
9| -3 -4|-15 -10-30
2| 4 -3(-12 -6 |-18
0|6 -1| -6 -4 |-12
4|10 5|12 4 |12
511 8|21 5 |15
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 11-121 8 | 0
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